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e Please check that this question paper contains 16 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 34 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

Hehtera gham-1I1
SUMMATIVE ASSESSMENT-II

T
MATHEMATICS

e aa7 : 3 792 | [ 3T 37% : 90
Time allowed : 3 hours | [ Maximum marks : 90
HTHT=T 3357 :

(i) G IATEE ]
(i)  FTYHH-YTH 34 J57 & &l a @] - 37, &, T HR T 7 [arfaa &1

[P.T.O.
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(iii)  GUS 37 H UH-UF 3% a1 8 J7 &, S qg-1a%cd] 57 &1 @I 7 H
6 3% & 578 & 5% 2 37% 1 8 | V€ G H 10 Jo7 T4~ HF & 8 /

Gue T H 10 357 & 5780 8 Je 9% 4 & FH1 8

(iv)  FAFAR B I AT 8

General Instructions :

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections —
A, B, C and D.

(iii)  Section A contains 8 questions of 1 mark each, which are multiple
choice type questions, Section B contains 6 questions of 2 marks each,
Section C contains 10 questions of 3 marks each and Section D
contains 10 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qs A

Section A

JoT eI 1 @ 8 7% Y& Y97 1 3% FT & | J97 G&IT 1 & § § I9% ¥97 & o780 =}
f3%eq 13T 717 8, fo7 @ Faer v @l 8 | @8l faseq giag)

Question numbers 1 to 8 carry I mark each. For each of these questions four
alternative choices have been provided of which only one is correct. Select the correct

choice.

1. T €I ol <A & 919 @l i W, Ig fH o A1 60° T v 54741 © | A Hih
1 Taforg dam & 2 H A g W 2, 1 et it g (A H) B

4
A __
(A) 7
B) 43
© 242
(D) 4
30/1/2 2
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A ladder makes an angle of 60° with the ground when placed against a wall. If
the foot of the ladder is 2 m away from the wall, then the length of the ladder

(in meters) is :

®
(B) 43
© 23
@) 4

2. e @ fa-Tae 9l = O 9y 3|1 AT, a1 S 9 W TGS o 3T 6

e
@ 5
® -
© -
o 5

If two different dice are rolled together, the probability of getting an even

number on both dice, is :

@& 5
®
© <
®
30/1/2 3 [P.T.O.
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3. HERT 19 30§ 9 A1gosl U 96 I TS | 39 HEA1 o Th TSI 96T o 8

£ P
@ 3

® -

© 5

®

A number is selected at random from the numbers 1 to 30. The probability that

it is a prime number is :

@ 3
® -
©
®

4. I oIg A(x, 2), B(=3, —4) Q&1 C(7,-5) G &, A x FIAF R :

(A) =63
(B) 63
© 60
(D) -60

If the points A(x, 2), B(-3, —4) and C(7, — 5) are collinear, then the value of x

is:

(A) -63
(B) 63
© 60
(D) -60
30/172 4
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5. 3t 1 #, QR Teu 7y o it ush swate wust Y@ B | g9 g g T W s
& © | foig T W it 7 Taef W@ QR =1 foig P firerddt 2 1 3fs PT = 3.8 3t 2,

?ﬁQREﬁW@(@Tﬁﬁ)%

Q P R
(A) 38 (B) 7.6
<O 57 (D) 1.9

In Fig. 1, QR is a common tangent to the given circles, touching externally at
the point T. The tangent at T meets QR at P. If PT = 3.8 cm, then the length of
QR (incm) is :

(A) 3.8 (B) 76

<O 57 (D) 1.9

30/1/2 5 [P.T.O.
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6.  3Hfd 2 H, PQ U1 PR %% O a7t 9 %! < T W@ & | 95 LQPR=46° ¥, aI

ZQOR I AF R :
Q
.)g.
R

(A) 67° (B) 134°

(C) 44° (D)  46°

In Fig. 2, PQ and PR are two tangents to a circle with centre O. If ZQPR=46°,

then ZQOR equals :
Q
(>P
R
(A) 67° (B) 134°
(C) 44° (D) 46°
30/172 6
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7. TS 45 G 9AT AE 4 G STt 91g o Tk 319 STl Rl IR 6 HHT ST ATt
314 Tiel ST 1T | Tl <l & @

(A) 3
B) 5
<€ 4
D) 6

The number of solid spheres, each of diameter 6 cm that can be made by

melting a solid metal cylinder of height 45 cm and diameter 4 cm, is :

A) 3
B) 5
<€ 4
D) 6

8. U GHIGK UMt o AW 9 e, HHIM: 3y — 1,3y + 5AA Sy + 1 &, Ay HIAF B :

A -3
B) 4
© 5
D) 2

The first three terms of an AP respectively are 3y — 1, 3y + 5 and 5y + 1. Then

y equals :
A) -3
B) 4
© 5
D) 2
30/1/2 7 [P.T.O.
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Qs d

Section B

T G&IT 9 G 14 T Jc9% T34 3 2 3% &8/

Question numbers 9 to 14 carry 2 marks each.

9. IR HE O Il T g W forelt oy foig P & < ¥t {@TC PQ T PR 39 TR @i
SITé foh ZQPR = 120° &1, at frg At ff 2PQ = PO # |

If from an external point P of a circle with centre O, two tangents PQ and PR

are drawn such that ZQPR = 120°, prove that 2PQ = PO.

10. ¥ < fyg-fie faenl =1 ts 919 3BT 2 | FH 9 FH Tk 92 A h TiRiekar
1 shifST |

Rahim tosses two different coins simultaneously. Find the probability of

getting at least one tail.

11. Pfd 3 §, T 0 % dqAier OPBQ & 3dfd oM Wk a7 OABC ® 1| 3Afg
OA =20 3} B, 1 SHfehd 91T 1 &% J1d ST | (1= 3.14 )

Q

C B

0 A P
30/1/2 8
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In Fig. 3, a square OABC is inscribed in a quadrant OPBQ of a circle. If
OA =20 cm, find the area of the shaded region. (Use n = 3.14)

12.  fouma oo 2x% + ax — a® = 0 &l x o foTw g1 hifsu |

Solve the quadratic equation 2x° + ax — a” = 0 for x.

13.  fog ShITNC fof o <l a1 o’ St {@rai < e foigadi sl fie™ aren {ergve a4
o ohg H Bl STl 2 |

Prove that the line segment joining the points of contact of two parallel

tangents of a circle, passes through its centre.

14.  Teh GHI At o1 Y| Y€ 7 G AfaH U< 49 2 | Ife 2ot & @eft uei o1 I 420 B,
Al STHT AT JTd IS |

The first and the last terms of an AP are 7 and 49 respectively. If sum of all its

terms is 420, find its common difference.

30/172 9 [P.T.O.
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Qe 9

Section C

Yo GE&IT 15 G 24 T TAF JoH & 3 SF 8 /

Question numbers 15 to 24 carry 3 marks each.

15. ITTHd 4 T, 12 Gt ST el T G9a1g HYSt ABC % 3faid U I @il T &
Sep &g 0 ® | 3ia:ga i B 3@ fifse qen swEifra wm #1 &a%a 79
SHINT | [ 1= 3.14 1 3= 1.73 AT |

In Fig 4, a circle is inscribed in an equilateral triangle ABC of side 12 cm. Find

the radius of inscribed circle and the area of the shaded region. [Use n = 3.14
and /3= 1.73]

30/172 10
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16.  3Tpfd 5 H, PSR, RTQ qT PAQ i 27¢faw 2,

S
S = wEw: 10 o, 3 @t Qe
7 ot ¥ | SWifeha 9w o a1 AT
(1 = 3.14 i)
P o7& QWR

T

In Fig.5, PSR, RTQ and PAQ are three
semicircles of diameters 10 cm, 3 cm and

7 cm respectively. Find the perimeter of the

shaded region. [Use 7t = 3.14] P 7cm QWR

T

17. U fpE™ 3199 @d | 10 9t =@ aTedl 37 2 | Tl Teh SR <ohl ohl TR
=T 20 UHY T Teh 919§ T W Sedt ® | Afe qrsq § g 4 o) wid s
16 | 98 1 8, 1 Fohae am | Zohl g1 o) St ¢

A farmer connects a pipe of internal diameter 20 cm from a canal into a
cylindrical tank which is 10 m in diameter and 2 m deep. If the water flows
through the pipe at the rate of 4 km per hour, in how much time will the tank be

filled completely ?

30/172 11 [P.T.O.
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18. 20 9t F=mg 37 60° TfeRIvT ATel U 3 €Tg ok TG W ! ITH! ST h
- & T ST Tk acl § Q1 9T H hiel T & Selfeh ad % o TUR h

i 2 | At ST v  FowE A %@ﬁmmﬁ@m%mﬁ@ﬁmw%,
1 AT e e T IR |

A solid metallic right circular cone 20 cm high and whose vertical angle is 60°,
is cut into two parts at the middle of its height by a plane parallel to its base. If

. . . . 1 )
the frustum so obtained be drawn into a wire of diameter E cm, find the

length of the wire.

19. 3 sk guiR Soft 1 Aradn g é %a&mmﬁafqa%%,aﬁm 639l 9 q1d

s |

If the seventh term of an AP is é and its ninth term is %, find its 63" term.

20. T gHSI Bigs ABC Wifuw e AB = 6 &, BC = 8 Tt qam /B = 90° ® |
B ¥ AC W &« BD ®ifat qen f6gsti B, C a1 D ¥ 8o STH arell ga Tt | foig
A ¥ 39 I W T @A it AT ST |

Draw a right triangle ABC in which AB = 6 cm, BC = 8 cm and ZB = 90°.
Draw BD perpendicular from B on AC and draw a circle passing through the

points B, C and D. Construct tangents from A to this circle.

30/172 12
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21. UF JhIOI-TI o SHT IR & Sers it B 39 YR feva @ foh g1 sree aen
TRTIT-EqF Teh &1 31 | ¢ | JehIeT-Tary o TR @ €1 STeTsil o 798 v 60°
qor 45° 2 | A JeRreT-Tqed A F=Tg 200 M R A I SRS o6 T B g
ST [V3 = 1.73 s ]

Two ships are there in the sea on either side of a light house in such a way that
the ships and the light house are in the same straight line. The angles of
depression of two ships as observed from the top of the light house are 60° and
45°. If the height of the light house is 200 m, find the distance between the two
ships. [Use /3 =1.73]

2. g o _1__ 2 ;x¢—1,x¢%,ﬁxéaf%m€aﬁﬁql

X+l 2 3x-1

ANt
x+1 ¥2 =5*]

Solve the equation x#z—lLx# % , for x.

23. &3 0O(2, -3y) Tl g1 WAl fg A(-1, y) a1 B(5, 7) Tera 2 | y o wH 37 hifsw |
1A ol B ot 31a ShifsTe |

Points A(-1, y) and B(5, 7) lie on a circle with centre O(2, —3y). Find the

values of y. Hence find the radius of the circle.

24, 3fg f51g P(=3, 9), Q(a, b) AT R(4,— 5) WX & AT a+b=1 B, A ¢ TAT b & UH
1 ST |

If the points P(-3, 9), Q(a, b) and R(4,— 5) are collinear and a+b=1, find the

values of a and b.

30/172 13 [P.T.O.
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©us g

Section D

G &I 25 G 34 T JAF G & 4 SF 8 /

Question numbers 25 to 34 carry 4 marks each.

25. T 60 H H=i fofeen & Rrgr 8w #9R & f¥@w qon ure o 3999 991 A9994
THI0T HATT: 30° TAT 60° 2 | Tofeen qen R it S=meal o1 STaX 991 39 o=
Tl 91a A |

The angles of elevation and depression of the top and the bottom of a tower
from the top of a building, 60 m high, are 30° and 60° respectively. Find the
difference between the heights of the building and the tower and the distance

between them.

26. 93 P(x, 2), fgati A(12, 5) a1 B(4,— 3) ! e aTet {am@ve =i fohg s1gama |
Fied1 ® | x 1 AF oft 71 hifse |

Find the ratio in which the point P(x, 2) divides the line segment joining the

points A(12, 5) and B(4,— 3). Also find the value of x.

27. 50 Y&l shl Weh THIGL AU o YW 10 Ui 1 INT 210 qAT AfqH 15 &1 1 I
2565 & | 20ft J1a shifsre |

In an AP of 50 terms, the sum of first 10 terms is 210 and the sum of its last 15
terms is 2565. Find the A.P.

28, fog s o6 g0 & wford s us wuia =g aregs g 2 |

Prove that a parallelogram circumscribing a circle is a rhombus.

30/172 14
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29. UM % U W Y GAT 3¢ TF o SATRR I Th o @ [58eh! Sarg 11 St o
Sudt B fisan 2.5 aft R | oR e o @ QU W gen ® | 39 @A § 0.5 wnft

mﬁmdﬁﬁwﬁ%ﬁaﬁnﬁﬁq@aﬁq%ﬁwgﬂWWWW|

T hIfere 56 38 a1 & fopat miferat sreft 8 | gena 3 T waiy fohan 6 o @
Trerctt art wtern Sal shi STl S HiE Hoh | I H 39 1 § ohE oI w1 YeeH
fopan 7

Sushant has a vessel, of the form of an inverted cone, open at the top, of height

11 cm and radius of top as 2.5 cm and is full of water. Metallic spherical balls

2
each of diameter 0.5 cm are put in the vessel due to which gth of the water in

the vessel flows out. Find how many balls were put in the vessel. Sushant made
the arrangement so that the water that flows out irrigates the flower beds. What

value has been shown by Sushant ?

30.  SETS 2.8 O} I A 4.2 T ATt Ueh 319 Sl H § 3ET SHaTg 3T 3T o318 arelt
T TR Wit e T STar 8 | 39 o= 39 1 Y¥T SFa%a J1d shife |

2
[ :7?1‘11%@]

From a solid cylinder of height 2.8 ¢cm and diameter 4.2 cm, a conical cavity of

the same height and same diameter is hollowed out. Find the total surface area

of the remaining solid. [Take = :g]

31, 2 T AT T S 3 A Sk okt T 3 218 3 | w31 FIR |

The difference of two natural numbers is 3 and the difference of their

reciprocals is 238 . Find the numbers.
30/1/2 15 [P.T.O.
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32. fug HIfv for g & foret fog w0 wasl Yar wef-fog & oW aneft B w e
Bl 2 |

Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.

33. 52 vl i are ot TENH | @t il T ok R Tt I fHeRTet e e | 9w ot o
3= TR e o oG 390 U Ueh U1 ATgoaal fHehtall T | ITfiehd 91a shifoie foh
TeRTeAT TTRIT ORI U

() &R AT v g
(i) TS TT T IR
(i) A T HI IR
(iv) e R

All the black face cards are removed from a pack of 52 playing cards. The
remaining cards are well shuffled and then a card is drawn at random. Find the

probability of getting a :
(1) face card

(1) = red card

(iii)  black card

(iv)  king

34. k% 98 HH F1q hifee ek fote fgema afiemtor (3k+ 1) +2(k+1)x+1=0 & T
T B | 98 9o oft 31a i

Find the values of k for which the quadratic equation Gk+1)x*+2(k+1)x+1=0

has equal roots. Also find the roots.

30/172 16
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